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e All diodes are conducting relatively
low forward currents (approximately 1
mA) unless specified otherwise. The
LED in Circuit 12 is operated at “normal”
current levels to achieve ‘“normal”
brightness.

e The specific voltages listed in the Ta-
ble are approximate.

To take the quiz, examine each of the
14 circuits and estimate the voltage in-
dicated by the voltmeter. Next, refer to
the 17 voltages listed in the Table and
select the value closest to the voltage
you think the voltmeter will indicate. Fi-
nally, write this voltage on the line next
to the voltmeter. As an extra challenge,
three of the voltages in the Table will not
correspond to any of the circuits.

Exampie: Refer to Circuit 1. Assuming
that the resistance of A is chosen so that
approximately one-half of the maximum
recommended current flows through the
zener diode, it is obvious that the volt-
meter will read 6.7 volts (the diode’s
zener voltage). Remember—the max-
imum current rating of the device and
the exact resistance of R is not impor-
tant; that the value of R is chosen so that
the device exhibits its typical operating
characteristics is important. The voltage
in the table that is closest to 6.7 volts is
6.7 voits. Thus, we have written 6.7 volts
on the line next to the meter. What the
author has chosen as the best answers
are given after the circuits. <&
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